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instructions
Answer all questions.
Al questions carry equal marks.

Only cne answer is to be given for each
guestion.

If more than one answers are marked, it would
be treated as wrong answer.

Each question has four altemative responses
marked serially as A, B, C, D. You have to
darken only one circle indicating the correct
answer on the OMR/Answer-Sheet using Blue/
Black Ball-Point Pen.

There are two sections in the Question Paper.
Section-A containing (1-50) questions related
with Research Methodology. Ethics, ICT and
Teaching-Research Aptitude. Section-B
containing (51-100) subject specific questions.
Mobile phone or any other electronic gadgels
in the examination hall is strictly prohibited. A
candidate found with any of such objectionable
material with him/her will strictly be dealt as
perrules.
if there is any sort of ambiguity/mistake either
of printing or factual nature, then out of Hindi
and English version of the question, the English

~ yersion will be treated a standard.

Warning - If a candidate is found copying or if any

unauthorized material is found in his/her

sion, FI.R. would be lodged against
him/her in the Police Station and he/she would
be liable to the prosecuted under R.P.E.

(Prevention of Unfair Means) Act, 1882 and
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SECTION-A
RESEARCH METHODOLOGY
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The rcgionlof rejection of Null
hypothesis (Ho) is called-

(A)  Critical Region

~(B)  Test Statistics

(C)  Type one Error
(D) Accebtancc Region

Why are ethical issues important in

research?

(A)  They will help us to pass the
assignment

(B) They what the
rescarcher ought to do and how

indicate

they should treat people

(C) They help the researcher to
write up their research

(D)  They indicate that all people are
very sensitive

Effectiveness of the teaching has to be
judged in terms of-

(A)  Syllabus corvcragc

{B)  Student's Interest

(C)  Useofteach ing aids in the class
 room |

i) L_eaming outcomes of the

- students
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What name is given to data which can

 beranked?

(A) Ratiodata -

(B) 7‘ Negativel); si(ewed data\
(C) Ordinal data

(D) Intervaldata

Select the order of sampling schemes
from best to worst.
(A) Simple random, stratified,
convenience
~(B) Simple random, convenience,
stratified
{C) Stratified, simple random,
convenience
(D) Straﬁﬁed, convenience, simple

random

. The probability of Rejecting a false Ho

HYpbthesis is -

(A) Leve‘lkof signiﬁcjance- |
. (B) Level of confidence -

5 1 : (‘C)‘-.Critiéal region ‘

2 s (D) Power of Test i
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When asked questions concerning
personal hygiene, people commonly lie.

This is an example of}

(A) ' sampling bias

(.1‘73'_) ’é‘(‘)nf‘om‘lding

(C) non-response bias -

(D) response bias

What s the rclduonshlp between bamplc

size and the standard error of 1he mean?

' (A) Thestandard error decreases asthe

sample size decreases
(B) The standard error is unaffected by
; ﬂiésample size
(C) The standard error increases as the

sample size increases

; (D) Thestandard error decreasesasthe |

7 Sdmpie size mcreases
thrsh of the followmg purposes

demdnd.s for action resedrch?
(A) Developing theory

(B) Writing thesis

~ (C) Solvingaclassroom problem

() Testingatheory
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10.. Low value of Standard Deviation means- 10. W}ia AT %, feet qr:{ ‘?ﬂ o 8- :
(Aj High degree of homogeneity in data L (A g T e WY B THSYl

(B) Low degree of homogeneity in data (B) o ¥ uwevar A Fre Rad

©) Sometirneé High & Sometimes

. Low : : ©) F0 F=7 I w1 Fr=
(D) None of these : | (D) ¥ 4 Hg TE

11, Astatistics professor asked students in 11. & ot I%at 3w A oent q
a class their ages. On the basis of this

I 9E [ T AW B SE 9T

information, the professor states that

| e Tar ¥ B Rivaferem 3 o orl

the average age of all the students in the :
o o ) ol og 21 a9 B 48 TH S

university is 21 years. This is an example

& , &

(A)' a census ; (A) @3‘ SN

5 i (B) NI Sihs
(B) descriptive statistics |
(C) Th AT &

(C) anexperiment
(D) Stat_istical inference

12, Which of the following isnotatype of | 12. fertferiee # & G?TW-BT A-irerar =

‘non-probability sampling? = w TR e ’Y
(A) Snowbalisampling . () R »
(B) ‘.Str'at‘iﬁed random Sarﬁpling 1 (B) &g mgﬁﬁ?ﬁ st
i i (C) Quotvaéna‘r_'n‘plvingv-.. e © ‘ﬁa Wﬁﬁ? | it
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' ()

application of theories and models is

called-

(A) Applied research
h\mmal n?ae{mh

() Basic ﬂfs{,‘ﬂrﬁh

(DY Social research

Which of the following is not a common

~ element of a research proposal and a

- research report?

(A} Objectives and hypotheses

¢ (B_}‘ ;‘implications for further research

{C) References to previous research

(D) Sourcesof in‘fﬁmwﬁo»r'x/data

A researcher divides his population into
certain groups and fixes the size of the
 sample froni each g g,mup as per the size

: ﬁi" i&w gr{;u;; Itis ::aﬁed-
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(B) Quﬁmfﬂtmp!@

) ‘Smwhaii myim" e

14.

LR sl R ‘ﬂ WWM%W%MTQ,@"
A rescarch that is oriented towards 4 ' o

r'rmr%

) s g
@) Yo A

(C) o

(t))»mrﬁ‘ﬁ i

P 4 3 A7 e o g
(A) R T PR

(B) o & 9g & 4G

© ¥ F B2 iy & s

(O) T S A

15.

st o o @ gp A d

-WW%@TMW%W

| 0 TS T b o @

@ Gﬂ@m mga m Fragft
ﬂ*} % ﬁ‘twh




%0

Which ni’_thd following are data

collection methods?

(A) Direct Personal Interviews

(B) Indirect Oral Inmrvic\'&a e

(C) Postal questionnaires

- (D) Alloftheabove

AT,

Which average is not affected by extreme

~ most observations ?

18.

~ (A) Weighted Mean

(B) M’dde S
(C) Arithmetic Mean
: (D} Gébmétﬁc Mean

For qaia!'itaﬁvc measures, the most

suitable average is -

. (A) Median

i :{B') Madlc i

' (C:s mmnm Mwﬂa o

Dy bacmf:iric Mean :

A

18.

0. f 13 dw o G AR

(A) ream enferre .- HeTeEnT po
) oo A w
(C) Orer geeTEe

(D) ew?mam

aﬁk%mqrmawga&f@immm k

g 7

(A) A e

(B) =g
(C) S e

(D) gvha'tmm

(A) mm

(B) T

(@ o

) T

Wm%mmmaﬁm%{r‘




o 19. Which is known as the Blue print of

Resgmth_?

(A) Research Pl"(ﬂﬂmn
(B) Research design
{©) Rescarch tools
(D) Research methods

20. Generalization of conclusion on the basis

ofa sample is technically known as-
(A) DataAnalysis
(B) Statistical Inference
' (C) Standard Error
(D) Data Interpretation

21, thch of the following aré examples
~ of primary data collection mclhodS‘?
(A) .thpanyn:cords
®) G“’V?m"?‘?’}’ﬁ policy doéuiiiexmls
‘ {C) : édmpény Managcr's‘ -

: G@#—rﬁ;ﬁahﬁ:-ﬁép@ﬂ& B
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(D)

. 1lalrequency distribution is positively
skewed, the mean of the distribution |

would be-

Sreater than Mode
Smaller than Mode
~Equalto Mode

Equal to Median

. In ’_khe process of conducting research

’()b_icc\i\-’tt&_ of‘tha Study’ is followed by-
Analysis of Data

(B) . Review of Literature

: ‘i"‘(mx‘mlmi(m t)‘l‘;lvllypt)tl\gsis
Fér;ﬁuiatiun of research

pmblém

The data which is ci)llclcied by some
& other. ;}Ll’bm} or c)r;,ummum\ for their

OWR use hul msumht:x nlsu gt.tx it {m :

s us&: is  referred ns-

S
o f"fv (C)
o i(m ,

A : ‘i’:’immy data

Scmduyian

mupomx dma f;.;ﬂ_v;.-;;, e o

{il}

an

‘.i\

.
' (‘3)
Yy ‘-(c:) :

it ol st v e Rl

¥ dew ooy Am-

iﬁ@él‘s"ﬁ ‘{}‘ ?“!"‘FI!'%{TV‘-
W) g e
() s :H‘W{‘ 5
() e & A

it e < s A ot & R
g R o b |
(A) i B ﬁ%ﬁm G i

(B) ah «‘}?f Wﬁaﬁ'mﬁ' :

(D) g @ ﬁm’rvr wa

qe Yo o R ov i @ R
g o @ o 3 R o

Rpar st & Afer et ) IR

: ;m@ﬁxﬁmwﬂ W%~

s %ﬁt ‘
Fga‘m%ﬁ %d\ o
%&ﬁhﬁ Q‘a |
E‘W““ 33‘ ‘
Rm’ ‘:»m“;




B e A e ert i I 79 m%%
& S HET AEY o

25, cemceeemeeeeeees are used when you want
1o visually examine the relationship
between two quantitative vatiables.

(A)  Bargraphs (A) QT ASH

(B)  Picgraphs (B) 3 T

(C) @ a%

( C ) Line graphs

(D)  Scatter plots (D) ®hex e

26. In teaching-learning process, which of | 26. REo-smfF fEar AN
the following are dependent variables ? iyg =7 -

(A) Student ) o
(B) Principal ®) ﬁri%ma
(C) Teacher ©) 'Rites
(D) Parents ®) a-fRea

27. Which among the following is a law of :
i 27 ﬁ‘:@iﬁgﬁ 73 P
-1 dgn w R

: Yiia »»' 5 i .

leaming? _ %
“(A) Law of motivation fie
(A) T 7

( ﬁj - Thelaw m'rindividuai'difl‘éfence

®) =R i P

- (C) Lawofexercise

- H{E) m’r“ﬂﬁm o
bt B ik NG G‘rﬁwm
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28, Vihics in w_hith selence!
(A} Positive
(1) Normmtive
(€ Applied
(1Y) Systematic

29,
menn primarily that -
(A) Ttis nccording to truth
(1) Ttis necording to rule
(C)  Tis according to tradition

(12) None of the above

30, 1CT promote «ssememmumvencacnnan and 30,

13
............. skill,

{(A) Highorder thinking and reasoning

skill
{13y Writing and speaking skill
' {(‘“f) 1‘)éhuiing, und exteinpore

@) Allofthe above

. , (
When we say that conduct is right, we 29.

{44y
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31,

32.

33

The first step of reseércli is-

(A) Selectinga problem

( B) Searching solution to thé problcm
(C) Finding a problem

(.D) Identifying a problem

A research problem is feasible only

when-

(A) Ithas utility and relevance

(B) Itisresearchable

(C) It is new and adds something to
knowledge

(D) Allofthe above

The main characteristic of scientific

research is-
(A) Empirical
(B) Theoretical

(C) Experimental

(D) Allofthe above

{14}
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32.

33:
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34,

35.

36.

Which technique of sampling generally

followed when the population is finite?

(A) Area Sampling chhniquc

' (B) Purposive Sampling Technique

(C) Systematic Sampling Technique

(D) None of the above

In the process of conducting research
"Formulation of Hypothesis" is followed

by-

(A)

Statement of Objectives

(B) Analysis of Data

Selection of Research Tools

©)

(D) Collection of Data

A NGO conducted a study in a Gram
Panchayat to see the impact of a
campaign approach on Enrollment and

retention of the Rural Gandhi School, it

will be-

(A) Descriptive Study

- (B) FieldExpm‘imeht

(C) Ex-Post Facto Research

(D) Historical Research

{15}
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The main objective of ~eeeseese Study's

o M:qnire knowledge.

my £ \p‘i‘w‘mﬁﬂ

. fim ﬂﬂt*npiwr i
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40,

(A

(B
)

1y fi}iag@nm‘mﬁ.

(I 5 *mwmcandﬂ;agxmnc

The vocfficient of variance explains

which measure of the distribution 7
{A) Consistency
Km Hnbi:@scdmsx
(€} Sufficiency

M) Efficiency

Questions in which onlv twoaliematives
are {ﬁ‘ﬁé&iﬁiﬁ' iscalled?

Multiple choice qucﬁ;&i&ms

- Dichotomous questions

mpcn m&e{i guestions
‘smimm*:ﬁi ﬁﬁf'&iiiﬁx's i
zlhvzi&ﬁ»;timiueiié;ig i?%ii%zd h}-

37, e ST 3 5 T T ST B

3R
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() Prenm
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A

Thc main pmhlm in e;mwtscmmm i

;{;Aﬂ-‘? &wcwhic!h imw ﬂmwhm '

(B) GremerAnonymity

(G Shows an inability of respondent to

provide information
(1 None of these

Which one i called non-probability

sampling?

(A Quotasampling

(B Cluster sampling

(€ Svstematic sampling

m‘& Stratified random sampling

%ﬁv%wmm* scale measurement has a

- panesl zero,

: {A} R&lm

viB; Num&md

(0) Odind
13; iserval ',

A m&ma!e ksl ﬁf ali ihr: mwimg wma f,

‘ m} mqshng simgﬂ

i iﬁ} M&ggimﬂm

; i*agemmm ﬁwm

43,
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(B) e gt
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i | 45, o =t gwd v b7
45, Whm 15 a samplig unit? A) & ,

(A) The Population 8) ‘,FT gt Prail wor @ ol
(B) The basic unit containing the m%m s

elements of the population to be

sampled ' (C) offert g B Tl aufinony oo, g
(C) Al the individual elements of the arg dte ™

final sample, drawn together. (D) T wa & ford . "
(D) The method used to collect the o 2l P

sample.

46. What is Rescarch? 46. um @ g 7

(A)  Searching again and again (A) AR-AT BT

(B) Rt weren @ qamary aoen

(B) Finding solution to any problem
(C) el wren @& wey o) wivor & fird
b erfils @ wed oo

(D) arm#ﬁ R T

(C) Working in a scientific way (o

scarch for truth of any problem

(D) None of'the above

47.  Why do we need to review the existing 47. s Mo arfven & whw w0t @
r \4 i f] S A8 1L /] .

literature? : AATTE A b
~ (A) Tomake sure we have a long list of (A) =5 gfifeaer w3 # forlt Py ot
: references e dawl o v ofd) gt
(B) Becausewithoutit, youcouldnever | (B) il T Faer vy apdy ot s
reach the required word-count : -y 0 st e Tl

(©) 75 %o a5 forh o et e
W B AT A g e B
D) B Grary gy i e w7

(C) To find out what is already known

~ about our area of interest

. (D) Tohelpin our general studying

e BTy
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49,

Variance remains unchanged by the

change of-

. (A) Origin

(B) i Scale

(&) Both Origin and Scale

(D) None of these

According to the empirical rule,

app’roximétely what percent of the data

should lie within (X+25)?

(A) 68%

(B) 99.7%

(©) 90%

1505

(D) 95%

A variable that assumes any value within

a faﬁgc_i_s‘calléd-‘

 (A) Discrete variable

" (B) Continuous variable

(C) 'jmdé?én&emvariablew e

() Dependentvariable

49,

- 50.

argeT Fra & o, 3er @ V
R sfewd (R+20) & e den
7 |
A) 68%
B) 99.7%
©) 90%
(D) 95%
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SECTION - B
Subject Specific Questions
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32,

53.

Dy EM

Fvan Hhch is known for:
(Ar - Life long learning

(By  Life skill education

{C)  Deschooling

(D)  Distance Education

"Give me the baby and | will make it

as you desire” was the diction
pronounced by :

{A)  Guthrie

(B)  Paviov

(C)  Skinner

(D)  Watson

Which commission of education first

of all emphasised linking education
with productivity :
(A) University LEducation

Commission
{(3)  Seccondary

Commission

Education

(C)  Education Commission

(D) | Indian Education Commission
In which amendment of Indian
Constitution Right to Education Act
2009 has been added :

(A) 102

H) 6™

(C) a4

{21}

1 8

(A)  Sfer i e 3
B) A B 3 R

(C) Ffdemerdmmro

(D) g7 foen

‘g uF A At ol I8 e S
o am a4 gm”, a8 SfE 3-

(A) T

(B) dfgea #

(C) e =i

(D)  dfeqs #i

fem foenm smam 3 wdugw foem @
TEFA b WT g O e &y

(A) Tavafaemema G s
(B)  wreafoes e smam

(C)  farer aran

(D) e fawen amgn

I AU & o dange # farn a0
oA arfafram sirer wy

(A) 1024

(B) 86

(C) 8477

(D) g
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; (i.),} :

Roeviology of education means:
A} apphivation of socioluical

prrviples o edueation

S applivation of sociotogival
 prineiples to classonm

) apphication of sovial leathiing
prveiples o clasaon

UM application of sovtologieal

prineiples to cultugal learing
Whith ot the following is an athels
phitosophy @

W) Vedant

) Jamism

Y Samkhva

M) Yopa

Type Teror is when null hypothesiy
I8

(A troe and rgjected

() true and retained

(C)  false and retained

(M talse and igjected

‘Apara Vidya' according o Advaitwad,

18 related -

'(ﬂ\.) | ~Waorldly Education
(B} Spiritual Bducation :
; \\f’nridfy and Spiritual Education

(©)
ik lmih

hktﬂ B dm ation

&
A

S8,

(ol o e o ard B
if

(A w6l

| A ,

(1) e Fnaral & i if
atgul

() vl it o fat g
wfitif 17w

(D) wstaee el o afepfas

it 11 st
Feesilenleer of efer-anr wrfoeen ey

(A) e
(1
(Y yjey

(In
LAl ot B R e e gt

(A) e o) aie aredieger Ay B
(M) e @ ol el ded @
(€)oot 8 ahe g d B

(D) e & ole el Al &

ML SR 9y faen epaloger
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0. Whichofthe following is not a source |59, Pyeffe & @ ﬁ?{ BTW&T“IT . ﬁfﬂ'

of nwm ation?- adt 7
(A) N
B)  orR
(C)  SravaHa
D) yER
60,  oTerdiwar Rshyar 8-
(A) W s oraen H
(B)  Hhe o
(©) I Gipare Tae B
D) Sl dhraeTs o@en #

ol. PFrfofea & @ o9 =i & gl
ol SR @R an Al ® e @

(A} Incentive
B Dive
() Need
(D) Instinet
o0, Egocontricity is a characteristic oft
{A)  sensory motor stage
(B)  pre-operational stage
(C)  conerete operational stage
(D) formal operational stage
ol.  Which of the following helps in

Keeping a person social being and tied

to morality?

¥ e g 8?
{A)  Superego
3 (A) T S1eq
(B) Ego ,
(B) 9@

© W :
’ © T

' e S (D) wﬁzﬁr a‘zﬁ
62, Purpose of creation of Universe and a
» | : : - v 62. m Eﬁ'{ m
s its relation to God ‘:}nd man is S Bﬁm $99% U@
L e e b i | Wﬁﬁﬁﬁa&a%ﬁﬂaﬁ%

foa discussed in-

| {A) Metaphysics (@) e %

L L ® el

L gy e O R

() Allthe above




63.

64.

=N

“can be gcnéra_!izéd to other settings,

Which of the following is known as

R 2
'Magna-Carta of Indian Education'?

(A)  Sargent Commission

(B)  Macaulay Minutes

(C)  Wood's Despatch

(D) Hunter Commission

'Cultural lag' occurs in a society

because of-

(A) the dependence of material and
non-material cultures

(B)  the non-relatedness of material
and non-material cultures

(C)  the non-material culture js
ahead of material culture

(D)  the material culture is ahead of

non-material culture

A Child who reads numbers wrongly

has following learning disability-

- (A)
(G5
D)

If the ‘observed variables relationship

Dyscrasia

Dyspepsia

‘Dyscalculia

Dyslexia

- thenitis called-

W
i (Iij'f
_!gé:) S
D).

- Construct Validity

Statistical Validity

External Validity

.]nicmalv Vailid'i l\ - _- S

63.

64.

65.

66.

{24}

Prafifa & & 58 i R 5

eI U Hel AT o

(A) ERIE SN

B) fe Fifga

© o # R

(D) EeX

ferett gt 7 ‘aiepios e @ s

3

(A) W od eiifas Gephedl &
RG]

(B) dAifs wd orlifs At @
gt 78 2

(€) ot wepfy o e vy
q 3T B

(D) i iy STHfTp Heghy
q o

T T S sl B e gar & @)

S FetfiRem s oy 3-

(A) fFeepimn

(B) ey

(©) ey

(D) el

aRRafr ﬁ‘anww®3ﬁ1ﬁsqrﬁn'aaiﬂ'%
W Fo §-

(A) o= dear

(B)  wifadg dem

(C)  sre™ Juar

(D) 3R Jemy
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07,

6y,

0)

Onestadted test is ased when-

(A)  the groups me correlated and

the  hypothesis s pon.

directional
(Y the groups are wneorrelated and
the hypothesis is directional
the groups are correlated and
the hypothesis is directional
(DY the proups are uncorrelated and

the  hypothesis is non-
directional

1{ the correlation cocthicient between

two halves of a test is 0.67, then the

coeflicient of reliability for the whole

1ent is-
(A) 080
(1) 0.76
() 0.34
() 092
The term ‘inclusive education’ refers
o
(A)  Education of SC/ST Children
(133 tducation of Children from
minority group
(Cy  fducation of children with
A disubilities slong with nofmal
o1
(D) Pducation in multi-grade

setangs

{25}

67,

6H8),

69,

ity i i fen o B

nA-

(A) ye meafem @ oen afEern
faamftsr

(y e wafar o A o AT
R @

(Cy  mym wpeafeny @ e iR
Promoper &

() T A F A A aHEe
framiter &

e fat aiprer & 21 ol v & e

weEE A 0.67 B At weget efe

a1 fawnran s dm-

(A) 080

(B) 0.76

(C) 034

(D) 092

el fimn @ s B-

(A)  srpfaa onfy /arafy & gt
W faen

(B)  reEerE o § aelt A R

(C)  Pan vd muwm yed @t ous
wra fqn | |

i) =gl ey aro foen
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71.

73.

Negative reinforcement means :
(A) Presenting an unpleasant
stimulus

(B)  Terminating an unpleasant
stimulus

(C)  Not presenting any stimulus

(D)  Punishment

If a test measures mastery level

achievement in any subject, it is known

as-

(A)  Criterion-referenced test

(B)  Norm-referenced test

(C) Diagnostic test

(D)  Prognostic test

Which of the following statements is

not correct?

(A) A test cannot be valid without
being reliable

(B) A test can be reliable without
being valid

(C) A testcan be reliable and valid
both

(D) A test can be valid without

 being reliable

Which of the following is not true

about curriculum?

{26}

70. e ET & 3 -

11,

(A) g ST B TEA &
(B) ot S B G Fon

(C) 1§ ¥l LT TH T F

(D) s

% ohgw B Rug § @a w1
Iyafe & 719 HTar & ot 39 Hel @

5
(A) eg-gw=fifa e
(B)  Arah-gearda qdemr

(C)  Ferms Tharm

(D) yafarft qferor

Freifaftaa & & @m-w um o 87

(A) vl Regada g fam da 8
Bl T

B) i 39 zu fan fasaweia @
qF &

(C) vl favawi vd 49 24t &
T B

(D) e fagaedm g fam 4w @
THA &

wrggEat % gery | H-ar a9 2
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(A Cwrriculum should be related 10
community life

(B)  Curriculum should be rigidr

(€Y Curricalum should be usefyl

(D) Activities related 1o life should
be included in the curriculum

Questions best suited for increasing
student's participation are-
(A) divergent type
(B) convergent type
{C) memory type
(D)  undersianding type
Evaluation is considered comprehensive
when-
(A)  all the teachers evaluate
(B) whole content is covered in
evaluation
(C) all .aspccts of educational
objectives are evaluated
(1)) none of the above
Which reliability should not be used
for achievement test”
{A)  Split-haif reliability
(1) Parallel form reliability
(Cy KR-20

(D) Test-retest reliability

{27}

74.

(A g A e A @

o e SR
(B) g @ e f e
(C) wzmd & avird fen @R

(D) g A gafaa Gms Wt

% ¥ TN B A7
(A) UETd ST B
(B) FwErd 5w &
(C) =shms

(D) @3y 79T &

TR B ATE FA A e 2 aa-

(A) TR FATE TEET B

(B) wwEiww 7wy AvwEs &

(€) s vvd 3 o sl =

R

D) IWEAFAI G F

Iyaie view & P e R

& 3w Al e ar iy

(A sred-fred R

(3} e B e

(C1 KR20 |

(0l gl Ryeiam
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77.  Counselling is called the ....ceeseeeees 77.  quEd # R BEE B
of guidance programme. el Sl J
(A)  hand (A) @9
(B)  head B)
(C)  heart (C) &F
(D) mind (D) =
78.  Individual differences in linear 78. @& it ¥ afd e 5
programme is taken care of by- & T@T S 8-
(A)  small steps (A @Y W EN
(B)  self pacing (B) w@-ufq 27
(C)  immediate feedback (C) deh Hfyf ar
(D)  student's testing (D) ©F qOuIT Z
79. Commuﬁication is based on- 79. TGO SMEIRE &-
(A)  Principles of feedback (A) digRe 3 Rrea w
(B) Principles of motivation (B) IRERoT 3 Rem w
(C)  Principles of interaction ©) s=fEr 3 e w
(D)  All the above (D) IqNE g
80. Problem solving ability develops at 80. Pmw 3 frg Wt W AwE-gaEE &
which stage of teaching? Qar 1 A g 27
(A) Memory level (A) T ®R
(B)  Understanding level (B) ey wRW
(C) Reflective level (C) fa=e w1
(D)  All the above (D) SdF |
81. 'Gupti'is related with- 81. I’ gt B-
(A) Vedant Philosophy (A) e gefw
(B)  Yoga Philosophy _ B) e
(C)  Buddhist Philosophy € dEaa
(D) Jain Philosophy D) ¥ 3 @

{28} Ak 107
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82.

83.

If a null hypothesis is rejected at (.01

level of significance, then.-

(A) it will definitely be rejected at
0.05 level of significance

(B) it will not be rejected at 0,05
level of significance

(C) it may or may not be rejected
at 0.05 level of significance

(D)  This information is not

sufficient to decide about this
Which philosophy holds development
of democratic way of life as an

important aim of education?

(A) Idcalism
(B)  Pragmatism
(C)  Realism
(D)  Naturalism

Which of the following is not an

example of probabilistic sampling

technique?
(A)  Systematic sampling
(B)  Stratified random sampling
(C)  Snowball sampling
Simple random sampling

(D)

{29}

2.

83.

84.

A g i w3 0.01 =
(A) 7% fafsam 7 & wrd=m 2 0,05

(B) @z wmdwEw % 0.05 |7 W

7z WdFA % 0.05 T W
il

7 at & Frfa &7 % foe =
T Tar T §
a%w—mmnmmﬁﬁﬁqaﬁf%
A &7

(C)

(D)

(A) EIERE
(B)  UAsFEE
(C) FFHar=
(D) wpfmamE

frafafaa & 4 F9 TaeaE =R

THAF F TAET A 87

(A) #9EE ARYH

(B)  w{ga anfEs =Ry
(C) vt =

(D) %@ dnfEs R
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Find the odd-man out among the

following :

(A)  Survey studies

(B)  Developmental studies
(C)  EX. Post facto studies
(D)  Correlational studies

Assuming that event A caused cvent
B because event A happened before

cvent B is called :

(A)  Post-hoc fallacy

(B) Ex-Post-facto research
(C)  Cause-effect relationship
(D) Experimental research

Which one of the following is not the

main component of management?

(A) Organizing
(B) Staffing
(C) Controlling
(D) Discipline

Which is of most importance in human

relations in schools?

{A)  Schoo! Environment
(B)  Mutual Communication
(C)  Leadership

(D) School Supervision

{30}

85.

86.

87.

88.

Preferfar 1 & A wifeu-

(A)  Gadwor T

(3)  fasrarers o
(C) WL oAU

(D) FETEHIE AT

W[ wem AW B & qeel e v
O g8 7 B g A B FR yIA B
ofew gd, 3@ Fed €

(A)  dre-giF e

(B)  gEAIT STHAH

(C)  PA-FIRT Fr=

(D) S SrwHa

Frafefea 3 @ 99 gemm 1 g7 925
e e?

(A)  SmERH

(B) Fard st (staffing)

(C) =

(D) oTgemE

feremrerat & st et & @ watfys
eyt &7

(A) R g

(B)  wRwfE dan

(€)  Aga

(D) fammerd geddeor
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89.

90.

91.

92.

Who emphasised on mygje, art and
drama in the education of children?
(A)  SriAurobindo
(B)  Gandhi
(C) Hansa Mehta
(D) Tagore
Project method of teaching has its root
in-

(A) Humanism

(B)  Pragmatism

(C) Realism

(D) Idealism

Which is not a base of ascribed status?
(A) Gender

(B)  Educational Qualification

(C) Age

(D)  Kinship

Existentialism could not become Very
popular because-

(A) Tt was based on rigid principles
(B) 1t was not different from

Pragmatism
(C) It was not practical

(D) 1t was based on old principles

{31}

89,

90.

01.

92,

el oY R i P i, wen qn
RO 9T fRa?

(A) o orfase

(B) i)

(€)  dar e

(D) i

frrer o) Mdae fafn A o B
(A)  WHaaare i

B) W §

(€)  aurefar i

(D) ot

frfarfer % Wy wesr sftafa @ anar

el #7

(A Rin

(B)  Afrew Aeen

(C) W

(D) dard

arfecraars aga et sl o ww Wiy
(A) ue @A fawarst gt sl
(B)  uE sorTar @ o il
() uw aaefi Tl

() Fe guad feral g onafa
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01,

94,

10 Years old girls show greater
language achievement than 10 years

old boys, In this example, gender is-

(A)  Extrancous Variable

(B)  Intervening Variable

(€C)  Organismic Variable

(D) Dependent Variable

Which of the following is incorrect pair?

(A)  Sign theory - Tolman
of lcarning,

(B)  Field theory - Lewin
of learning

(C)  Social Learning - Bruner
theory

(D)  Trial and error - Thorndike

theory of learning
Which of the following agency
regulates and monitors special

education programme in India?

(A)  Ministry of Social Justice and
Empowerment
(B)  Ministry of Education
(C)  National Council for Teacher
Education
(@) Rehabilitation Council of India

{32}

93,

94,

93,

1o ot oy erefdl 10wt @ il 7 ot
aqpey-carpefesr wafafer et ®e g e
it fofr B~

(A) #mea at

(B)  wreEd |

(C) ofaw a1

(D)  anfya o7

Fepestferferer 3 werer gt r-ar 37

(A)  afem - et
arg far

(B)  arfrmy 51 ~ W
ZERTic

(C)  amfm afrm - gag
v

(D) wrE g - Yt

ann A
Freaifdes # @ - afwmo (i)
e # fad e e @) st
WA ¥ ST T s T ¥

(A amfes =g afr sfrfra
Warag

(3)  forq sz

(©)  wdra sy farn ofm

(D) rdy gty gfmg
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07.

98,

99,

Draw it Man' test jx-

(A) i intelligence feg
(1) ndrawing test

(C) o manual dexterity est
(D) personality test

Which of the following is not the

function of puidance for assisting an

individual-

(A) 1o boast over his position

(B)  to discover his strength and
weaknesses

(C)  to discover his own abilities

(D) to get a better job

According to which article of the
constitution, the 'Untouchability' has

been abolished?

(A)  Article 46
(B)  Article 25
(C)  Article 19
(D) Article 17

Which of the following measurement

. |’
seale hus absolute zero point!

(A)  Interval scale
(13)  Ratio scale
(C)  Nominal scale
(1)) Ordinal scale

{33}

06,

97.

98.

99.

‘Bu N aham -

(A) i qheror B

By ey ghmo ¥

(C)  arlifem Frgmar qder
(D) efr vl &

Pt anferer ot Tmmmen @t & for i
i A 9 Prégs w e T 87

(A) a1t feafey o afemer 0 |

(B) ot afa o FFEId qEEEE
i

(C) oo ermpemalt B ear |

(D)  oredt Al o |

dfgare & fpg o=dT & AN
‘Srejeaar’ @ ware & A g

(A)  OTTE% 46
(B)  oTge% 25
(C) ogEe 19
(D) TR 17

Frefafea # @ Ao @ few A A
fercer g7 B B2

(A) OTRIY (Fedaa) AR
(3)  STUr "o
(C) v A
(D) e (sféee )
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HARS

A student s working hand in studies
as his father has pramised to give him
a motoreyele i he pets good marks,
This i an example of-

(A)  nepative motivation

) intrnsie motivation

() extrinsic motivation

(M none of the above

\)
()
W)

(M

S

100, wx Rend oy N W WS wTw
D iy oud Rard J ored ofw w1 w
Wey wehea Raam w aaw o Ra
T JAET }-

FRUES AR W/
ansafs e ®
Wig NRRRE W

st B Qg 98
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